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Solving Sequence

— 50 >1—>6-—>4-—>7-—>3-—>9-—>2-—>8—>C1,0
A knot diagranﬂ ¢ Cs €4 Co c3 Cy &) cs

Ideals for irreducible component#ﬂ)f Xpar

=W —u® 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings

—ud —u
ar= \—uy"+u® -2+ u

u5+u
w—ud+u
—ul0 4 — 2wt —u? 41
—ul0 4+ 248 — 3ub + 2ut — u?

—ul® 4 2013 — 4yt 4 440 — 407 + 4u® — 20 + 2u>
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az = —ul® 4+ 3u!® — 6t + 7w — 6u” + 4ud — 2ud +u
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(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?® + 20u?6 — 4u?® — 64u?* + 16u?3 + 140u?? — 48u?! —
236u2° + 961t + 32008 — 15617 — 356ul6 + 208ut® + 340ult — 2283 — 272012 +
220!t + 188110 — 168u? — 108u® + 116u” + 48ub — 64u® — 20u* + 28u3 + 4u? — 8u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 L T |
C2,C3,Cy w0 4w T — 1
C4,Co ' + 110+ ut 1
Cs, C10 R e
s w0 1T+ —u 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, e y 1Ty 4 —y 1
C2, €3, Co 30 =31y 4. — 49y + 1
¢, ¢ PO+ 1Ty 4+ Ty 41
C5, €10 PO -1y o —y+ 1
cg v — Ty 4 -2y 41




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.730327 4 0.7125841 1.67645 — 2.069091 | —4.15841 + 3.387181
u = —0.730327 — 0.7125841 1.67645 + 2.069091 | —4.15841 — 3.387181
uw= 0.551518 + 0.7999161 —5.35554 4 6.070281 | —8.34155 — 3.403961
u= 0.551518 — 0.7999161 —5.35554 — 6.070287 | —8.34155 + 3.403961
u = —0.906793 4 0.5331301 —1.75153 4+ 2.048571 | —11.94351 — 2.927961
u = —0.906793 — 0.5331301 —1.75153 — 2.048571 | —11.94351 4 2.927961
U 0.804216 + 0.6851581 2.71504 — 2.052671 | —1.58203 + 3.487801
u = 0.804216 — 0.6851581 2.71504 4-2.052671 | —1.58203 — 3.487801
u = 0.924638 4 0.1480921 —3.63670 — 2.979451 —13.9208 + 5.34091

u = 0.924638 — 0.1480921 —3.63670 + 2.979451 —13.9208 — 5.34091

u = —0.543400 + 0.7587281 —1.94581 — 1.354581 | —5.23413 4 0.230761
u = —0.543400 — 0.7587281 —1.94581 4 1.354581 | —5.23413 — 0.230761

0.488569 + 0.7658221

&
-~
I

—5.74978 — 2.997241

—8.94829 + 3.114801

= 0.488569 — 0.7658221

—5.74978 4 2.997241

—8.94829 — 3.114801

2.42981 — 3.183881

—2.48294 + 3.330391

U
u = 0.897290 + 0.6724521
u = 0.897290 — 0.6724521

2.42981 + 3.183881

—2.48294 — 3.330391

u= 112154

—7.57426

—11.4920

u = —1.139570 + 0.0226351

—11.30750 + 4.697031

—14.6642 — 3.29761

u = —1.139570 — 0.0226351

—11.30750 — 4.697031

—14.6642 + 3.29761

uw = —0.950905 + 0.6829531

1.01456 + 7.424491

—6.02063 — 8.822471

u = —0.950905 — 0.6829531

1.01456 — 7.424491

—6.02063 + 8.822471

u = —1.047270 4 0.6541741

—3.41555 + 6.720161

—7.40084 — 4.937541

u = —1.047270 — 0.6541741

—3.41555 — 6.720161

—7.40084 + 4.937541

u = 1.060070 4 0.6355981

—7.40758 — 2.288281

—11.38974 + 1.784701

u = 1.060070 — 0.6355981

—7.40758 4 2.288281

—11.38974 — 1.784701

u=1.059080 + 0.6674961

—6.86248 — 11.589501

—10.39391 4 7.899081

u = 1.059080 — 0.6674961

—6.86248 + 11.589501

—10.39391 — 7.899081

u = —0.704437

—1.05262

—9.30020

u = —0.175683 + 0.4142031

—0.50312 + 1.322691

—5.12281 — 4.790721

u = —0.175683 — 0.4142031

—0.50312 — 1.322691

—5.12281 + 4.790721




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,cr w0 — -1
Ca,C3,Co ¥+ 4 T — 1
€4, Cp P+ 11 4t
C5,C10 T e
s w1 4 w1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C7 O+ 1Ty 4 —y+1
C2, €3, Cy y30 —31y% + ... — 49y + 1
C4, Cg POty Ty 1
C5,C10 y30—11y29—|—~--—y—|—1
cs g0 7y 4 25y + 1




